CS342301 Operating System Hw2

Deadline 12/14 (Fri.) 13:00 – 17:00 demo 

Goal: Implement Banker’s Algorithm

Input format: input data could be written in any file as follows

Resource

10 5 7    //resource A has 10 instance, B has 5, C has 7

Maximum demand

    (7,5,3)   //p0 maximum demand resource A with 7 instances, B with 5,C with 3

    (3,2,2)   // p1 maximum demand resource A with 3 instances, B with 2,C with 2

    (9,0,2)

    (2,2,2)

    (4,3,3)   // p4 maximum demand resource A with 4 instance, B with 3,C with 3

    Request

    1 0 (0,1,0)  //request 1: P0 request resource B with 1 instance

    2 1 (2,0,0)  //request 2: P1 request resource A with 2 instances

    3 2 (3,0,2)  

    4 3 (2,1,1)


5 4 (0,0,2)  //request 5: P4 request resource C with 2 instances


6 1 (1,0,2)  //request 6: P1 request resource A with 1 instance, C with 2 instances


7 0 (0,2,0)  //request 7: P0 request resource B with 2 instances

  Output format: you should output the request that brings into unsafe state.

               For example: in above example after request 7 will go to unsafe state.

  Note: 1. The resource type is not always 3, it may be 2,3,4,5, or …
       2. The program stops at the first request that brings into unsafe state

       3. Questions are welcome at course website:
         http://nthucad.cs.nthu.edu.tw/AllenWu/cs3423_01/os.htm
